Data for: 11/23/2025 05:00:00 to 12/07/2025 04:59:59

	2025 05:00:00 to 12/07/2025	04:59:59	
, Bar Drawer Job Title	Pay Rate	Ноше	Total
OC - Bartender	\$0.00	Hours 0.92	Total \$0.00
Salar: 67.067.25	Total	0.92	\$0.00
Sales: \$7,967.25 Tips: \$1,123.20	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$1,123.20
0001:	Avg Payrate		\$1,225.31
, QR Ordering Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips Gratuity		\$0.00
Tips: \$0.00	Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
, To Go			
Job Title OC - Cashier	Pay Rate \$0.00	Hours 0.92	Total \$0.00
	Total	0.92	\$0.00
Sales: \$9,055.15 Tips: \$507.71	Claimed Tips Gratuity		\$0.00 \$0.00
1163. \$307.71	Grand Total		\$507.71
	Avg Payrate		\$553.87
,, Peggy Job Title	Pay Rate	Hours	Total
Job Title	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
Aguilar, Ana			
Job Title OC - Server	Pay Rate \$2.13	Hours 40.22	Total \$85.66
	Total	40.22	\$85.66
Sales: \$7,566.13 Tips: \$621.13	Claimed Tips Gratuity		\$0.00 \$417.87
Πρ. 3021.13	Grand Total		\$1,124.66
	Avg Payrate		\$27.97
Aguilar, Chato			
Job Title OC - Cook	Pay Rate \$12.00	Hours 25.07	Total \$300.86
OC - Server	\$2.13	14.04	\$29.91
Sales: \$2,548.63	Total Claimed Tips	39.11	\$330.77 \$107.33
Tips: \$381.65	Gratuity		\$0.00
	Grand Total		\$819.75 \$20.96
Aguilar, Mike	Avg Payrate		320.30
Job Title	Pay Rate	Hours	Total
OC - Cook	\$0.00 Total	27.83 27.83	\$0.00 \$0.00
Sales: \$0.00	Claimed Tips	27.83	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$0.00 \$0.00
Alvarez, Juan Carlos			
Job Title	Pay Rate	Hours	Total \$933.57
OC - Dishwasher	\$15.00 Total	62.24 62.24	\$933.57
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$933.57
	Avg Payrate		\$15.00
Alvarez, Lupita			
Job Title OC - Server	Pay Rate \$2.13	Hours 34.65	Total \$73.81
	Total	34.65	\$73.81
Sales: \$5,849.19	Claimed Tips		\$0.00
Tips: \$802.63	Gratuity Grand Total		\$255.90 \$1,132.34
	Avg Payrate		\$32.68
Alvarez, Rafa			_
Job Title OC - Cook	Pay Rate \$0.00	Hours 80.00	Total \$0.00
OC - Cook - OT	\$0.00	21.24	\$0.00
Sales: \$0.00	Total Claimed Tips	101.24	\$0.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00 \$0.00
Alvarez Cortez, Miguel	Avg Payrate		\$0.00
Job Title	Pay Rate	Hours	Total
OC - Busser	\$11.00	11.84	\$130.19
Sales: \$0.00	Total Claimed Tips	11.84	\$130.19 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$130.19 \$11.00
Alvarez-Gonzalez, Lizett			Ţ_1.00
Job Title	Pay Rate	Hours	Total
OC - Dishwasher	\$15.00 Total	47.28 47.28	\$709.22 \$709.22
	Total	17.20	\$103.EZ

Dob Title		Avg Payrate		\$0.00
Grand Total S709-22 Any Payrate S15.00				
Alverez, Bertina Srope S				
Care	Sales: \$0.00	Claimed Tips	0.00	\$0.00
Care	Job Title			
Carant Total Carant Total Carant Total Carant Total Carant Total Carant Ca	Bowen, Tammy	Avg Payrate		\$0.00
Carant Total Cara	Tips: \$0.00			\$0.00
Alverez, Bertina Avg Payrate S15.00		Claimed Tips	0.00	\$0.00
Alverez, Bertina Avg Payrate S15.00				
Alverez, Bertina Avg Payrate S15.00	Rianev Ken	Avg Payrate		\$17.56
Alverez, Bertina S709.22	11ps: \$4/4.59	Grand Total		\$540.09
Alverez, Bertina lob Title OC - Cook OC - Dishwasher OC - Busser OD - Busser OD - Busser OC - Busser				\$0.00
Alverez, Bertina lob Title OC - Cook Alverez, Bertina OC - Dishwasher OC - Busser Total OC - Busser OC		Total		\$65.50
Alverez, Bertina Avg Payrate S15.00	Job Title			
Alverez, Bertina lob Title OC - Cook OC - Dishwasher OC - Busser Amaya, Jordan Ob Title OC - Busser Amaya, Jordan Ob Title OC - Server Sales: \$0.00 Claimed Tips Tips: \$0.00 Gratuity OC - Busser Amaya, Jordan Ob Title OC - Server Sales: \$0.00 Claimed Tips OC - Busser OC	Bernal, Melissa	Avg Payrate		\$15.00
Avg Payrate S15,00 Avg Payrate Avg P	,,	Grand Total		\$443.55
Alverez, Bertina Avg Payrate S15.00				
Alverez, Bertina Avg Payrate Alverez, Bertina		Total		\$443.55
Alverez, Bertina Avg Payrate S15.00	Job Title			
Alverez, Bertina Synosyze S		g - wy-wee		, J J.
Avg Payrate \$15.00				
Avg Payrate \$15.00		Gratuity		\$440.15
Alverez, Bertina S709.22	Sajes: \$5 702 50	Total		
Alverez, Bertina Stock S				
Grand Total \$709.22 Alverez, Bertina Pay Rate Hours Total OC - Cook \$14.00 19.44 \$272.13 OC - Dishwasher \$14.00 36.11 \$505.55 Sales: \$0.00 Claimed Tips \$0.00 Grand Total \$779.62 Amaya, Brandon Farage Farage Farage Farage Farage OC - Dishwasher \$14.00 7.57 \$106.03 OC - Busser \$10.00 \$15.20 \$167.15 Grand Total \$2.77 \$273.15 Sales: \$0.00 Gratuity \$0.00 Grand Total \$2.77 \$273.15 OC - Busser \$11.00 \$4.78 \$52.55 OC - Busser \$11.00 \$4.78 \$52.55 Sales: \$0.00 Claimed Tips \$0.00 Grand Total \$4.78 \$52.55 Sales: \$0.00 Claimed Tips \$0.00 Grand Total \$3.25 Avg Payrate \$11.00 Anderson, Brittany \$0.00 Grand Total \$3.25 Avg Payrate \$11.00 Anderson, Brittany \$0.00 Grand Total \$3.25 Avg Payrate \$11.00 Anderson, Brittany \$0.00 Grand Total \$3.25 Avg Payrate \$11.00 Anderson, Brittany \$0.00 Grand Total \$3.31.65 Sales: \$1,803.73 Claimed Tips \$10.00 Grand Total \$3.35 Avg Payrate \$12.00 Grand Total \$3.55 Avg Payrate \$15.00 Grand Total \$3.55 Avg Payrate \$3.50 Avg Payrate \$3.50 Avg Payrate \$3.50 Avg Payrate \$				
Grand Total \$709.22 Alverez, Bertina Pay Rate Hours Total OC - Cook \$14.00 19.44 \$272.12 OC - Dishwasher \$14.00 36.11 \$505.55 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 OC - Dishwasher \$14.00 7.57 \$106.00 OC - Dishwasher \$10.00 \$10.00 OC - Dishwasher \$10.00 \$10.00 OC - Cook \$15.00 \$5.52 \$332.76 OC - Dishwasher \$10.00 \$10.00 OC - Dishwasher \$10.00 OC - Dishwasher \$10.00 \$10.00 OC - Dishwasher \$10.00 OC - Dishwash				
Grand Total \$709.22 Alverez, Bertina Pay Rate Hours Total OC - Cook \$14.00 19.44 \$272.13 OC - Dishwasher \$14.00 36.11 \$505.55 Sales: \$0.00 Claimed Tips \$0.00 Grand Total \$777.65 Amaya, Brandon		Gratuity		\$0.00
Grand Total \$709.22	Sales: \$0.00		52.12	
Grand Total \$709.22 Avg Payrate		\$14.00	52.12	\$729.66
Alverez, Bertina Strong Payrate St		Pav Rate	Hours	Tota
Alverez, Bertina Strong Payrate St				
Alverez, Bertina Spans	11ps: \$0.00			
Grand Total \$709.72 Avg Payrate \$15.00 Alverez, Bertina		Claimed Tips		\$0.00
Grand Total \$709.22	OC - Cook			
Grand Total	Job Title			
Grand Total \$709.22	Arellano Hector	Avg Payrate		\$25.50
Grand Total \$709,22				
Grand Total Aug Payrate \$15.00				
Grand Total \$709.22		Total		\$31.65
Grand Total Avg Payrate \$15.00	Job Title			
Grand Total Avg Payrate \$15.00	Anderson, Brittany			, , , , , , ,
Grand Total \$709.22				
Grand Total Avg Payrate \$15.00		Gratuity		\$0.00
Grand Total Aug Payrate \$15.00		Total		\$52.59
Grand Total Avg Payrate \$15.00				
Grand Total				
Grand Total Avg Payrate \$709.22				
Grand Total \$709.22		Gratuity		\$0.00
Grand Total \$709.22	Sales: \$0.00		22.77	
Grand Total \$709.22		\$11.00	15.20	\$167.15
Grand Total Avg Payrate \$709.22	Job Title			
Grand Total Avg Payrate \$709.22	Amaya, Brandon	7.0g : uy.uu		72
Grand Total \$709.22				
Grand Total \$709.22				\$0.00
Grand Total \$709.22		Total	55.55	\$777.65
Grand Total \$709.22 Avg Payrate \$15.00 Alverez, Bertina Job Title Pay Rate Hours Tota				
Grand Total	Job Title			
Grand Total \$709.22	Alverez. Bertina	Avg raylate		313.00
Tips: \$0.00 Gratuity \$0.00				
Sales: \$0.00 Claimed Tips \$0.00		Gratuity		\$0.00

	Total	28.70	\$61.13
Sales: \$5,523.33	Claimed Tips		\$0.00
Tips: \$189.45	Gratuity Grand Total		\$622.43 \$873.01
	Avg Payrate		\$30.42
Burtner, Drew	Dov. Doto	Harris	Tetal
Job Title OC - Cook	Pay Rate \$17.00	Hours 45.39	Total \$771.70
C-1 60 00	Total	45.39	\$771.70
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$771.70
	Avg Payrate		\$17.00
Camacho, Maria Job Title	Pay Rate	Hours	Total
OC - Server	\$2.13	6.40	\$13.63
Sales: \$1,704.29	Total Claimed Tips	6.40	\$13.63 \$0.00
Tips: \$1,704.29	Gratuity		\$147.88
	Grand Total		\$312.78
Clifford, Landen	Avg Payrate		\$48.86
Job Title	Pay Rate	Hours	Total
OC - Busser	\$11.00	18.00	\$197.97
Sales: \$0.00	Total Claimed Tips	18.00	\$197.97 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$197.97 \$11.00
Culp, Linda	grujiate		711.00
Job Title	Pay Rate	Hours	Total
OC - Server	\$2.13 Total	38.25 38.25	\$81.47 \$81.47
Sales: \$5,951.76	Claimed Tips	30.23	\$0.00
Tips: \$827.00	Gratuity		\$389.82
	Grand Total Avg Payrate		\$1,298.29 \$33.94
Dailey, Kirstyn	* •		
Job Title	Pay Rate	Hours	Total
OC - Busser	\$11.00 Total	18.36 18.36	\$201.92 \$201.92
Sales: \$0.00	Claimed Tips	10.30	\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$201.92
	Avg Payrate		\$11.00
Deenihan, Melanie			
Job Title	Pay Rate	Hours	Total
OC - Server	\$2.13 Total	38.51 38.51	\$82.03 \$82.03
Sales: \$4,267.12	Claimed Tips		\$0.00
Tips: \$440.63	Gratuity Grand Total		\$242.04 \$764.70
	Avg Payrate		\$19.86
Dominguez, Dora			
Job Title OC - Dishwasher	Pay Rate \$14.00	Hours 13.75	Total \$192.46
	Total	13.75	\$192.46
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
11μs. 30.00	Grand Total		\$192.46
	Avg Payrate		\$14.00
Donovan, Michael		B. 4.	Takal
OC - General Manager	P	ay Rate Hours \$0.00 71.73	Total \$0.00
OC - General Manager - OT		\$0.00 4.43	\$0.00
Sales: \$25.63	Claim	Total 76.16 ed Tips	\$0.00 \$0.00
Tips: \$0.00	6	iratuity	\$0.00
		d Total Payrate	\$0.00 \$0.00
Drawer, Bar			70.00
Job Title	Pay Rate	Hours	Total
Sales: \$0.00	Total Claimed Tips	0.00	\$0.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
Evanovich, Ashley	Avg Payrate		\$0.00
Job Title	Pay	Rate Hours	Total
OC - General Manager		50.00 53.67	\$0.00
Sales: \$0.00	Claimed	Total 53.67 Tips	\$0.00 \$0.00
Tips: \$0.00	Gra	tuity	\$0.00
	Grand Avg Pa		\$0.00 \$0.00
Faith, Luke	Avgra	,	Ç0.00
Job Title	Pay Rate	Hours	Total
OC - Server	\$2.13	15.05	\$32.05
Sales: \$2,662.61	Total Claimed Tips	15.05	\$32.05 \$18.00
Tips: \$209.73	Gratuity		\$0.00
	Grand Total Avg Payrate		\$259.78 \$17.27
Frye, Lori			, 27.27
Job Title	Pay Rate	Hours	Total

Kaleth, Kaitlyn	Avg Payrate		\$15.00
	Grand Total Avg Payrate		\$328.46 \$15.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Total	21.90	\$328.46
OC - Dishwasher	Pay Rate \$15.00	Hours 21.90	Tota \$328.46
Kaleth, Colin			,
	Grand Tota Avg Payrat		\$0.00 \$0.00
Sales: \$3,121.00 Tips: \$0.00	Claimed Tip Gratuit	у	\$0.00 \$0.00
	Tota	ıl 54.39	\$0.0
OC - Host	Pay Rat \$0.0	0 54.39	Tota \$0.00
Hostess, Hostess			
	Grand Total Avg Payrate		\$109.89 \$12.00
Tips: \$0.00	Gratuity		\$0.0
Sales: \$0.00	Claimed Tips	3.10	\$0.0
OC - Cashier	\$12.00 Total	9.16 9.16	\$109.89 \$109.89
Job Title	Pay Rate	Hours	Tota
Hood, Avarie	Avg Payrate		\$15.0
	Grand Total		\$528.9
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
	Total	35.26	\$528.9
lob Title OC - Dishwasher	Pay Rate \$15.00	Hours 35.26	Tota \$528.9
Heredia Perez, Ana Karen			-
	Avg Payrate		\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$0.0
Sales: \$0.00	Claimed Tips	2.00	\$0.0
Job Title	Pay Rate Total	Hours 0.00	Tota \$0.0
Hartman, Stephanie			
	Grand Total Avg Payrate		\$313.3 \$20.1
Tips: \$224.35	Gratuity Grand Total		\$55.8
Sales: \$1,991.10	Total Claimed Tips	15.57	\$33.1 \$0.0
OC - Server	\$2.13	15.57	\$33.1
Hardison, Tia lob Title	Pay Rate	Hours	Tota
Hardison Tie	Avg Payrate		\$14.0
1195. 40.00	Grand Total		\$512.4
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
	Total	36.61	\$512.4
Job Title OC - Cook	Pay Rate \$14.00	Hours 36.61	Tota \$512.4
Guitierrez, Juana			
	Avg Payrate		\$11.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$154.7
Sales: \$0.00	Claimed Tips	27.07	\$0.0
OC - Busser	\$11.00 Total	14.07 14.07	\$154.7 \$154.7
Job Title	Pay Rate	Hours	Tota
Gudeman, Max	Avg Payrate		\$16.4
	Grand Total		\$1,639.8 \$16.4
Tips: \$0.00	Gratuity		\$0.0
Sales: \$0.00	Total Claimed Tips	99.55	\$1,639.8 \$0.0
OC - Cook OC - Cook - OT	\$15.00 \$22.50	80.00 19.55	\$1,200.00 \$439.8
Job Title	Pay Rate	Hours	Tota
Gonzalez, Lilia	Avg Payrate		, 1J.U
	Grand Total		\$769.1 \$15.0
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
	Total	51.27	\$769.1
Job Title OC - Cook	Pay Rate \$15.00	Hours 51.27	Tota \$769.1
Garcia Villalba, Eliseo			_
	Avg Payrate		\$16.7
Tips: \$288.00	Gratuity Grand Total		\$0.0 \$329.8
Sales: \$2,670.37	Claimed Tips	19.03	\$0.0
OC - Server	\$2.13 Total	19.65 19.65	\$41.8 \$41.8
Job Title _	Pay Rate	Hours	Tota
Garcia, Halee	Avg Payrate		\$40.2
	Grand Total		\$2,045.3
Sales: \$8,301.50 Tips: \$880.73	Claimed Tips Gratuity		\$0.0 \$1,056.2
	Total	50.86	\$108.3
OC - Server	\$2.13	50.86	\$108.3

Needs-poznanski, Derek Job Title OC - Server Sales: \$4,263.20 Tips: \$383.37	Pay Rate \$2.13 Total Claimed Tips Gratuity Grand Total	29.21 29.21	\$62.22 \$62.22 \$386.00 \$178.31 \$1,009.90
Job Title OC - Server	\$2.13 Total	29.21	\$62.22
Job Title			\$62.22
Needs-poznanski, Derek		Hours	Total
1:51	Avg Payrate		333.01
	Grand Total Avg Payrate		\$867.40 \$33.01
Sales: \$3,255.29 Tips: \$488.42	Claimed Tips Gratuity		\$323.00 \$0.00
OC - Server	\$2.13 Total	26.28 26.28	\$55.98 \$55.98
Job Title	Pay Rate	Hours	Total
Muszynski, Holly	Avg Payrate		\$39.91
11µs: \$517.05	Gratuity Grand Total		\$852.27
Sales: \$4,395.05 Tips: \$517.03	Claimed Tips		\$0.00 \$289.75
OC - Server	\$2.13 Total	21.36 21.36	\$45.49 \$45.49
Job Title	Pay Rate	Hours	Total
Murry, Savanna	Avg Payrate		\$19.73
	Grand Total		\$128.22
Sales: \$582.27 Tips: \$94.37	Claimed Tips Gratuity		\$20.00 \$0.00
	Total	6.50	\$13.85
Job Title OC - Server	Pay Rate \$2.13	Hours 6.50	Total \$13.85
McElwain, Caterina	<u> </u>		
	Grand Total Avg Payrate		\$401.54 \$43.84
Tips: \$292.03	Gratuity		\$0.00
Sales: \$1,845.03	Total Claimed Tips	9.16	\$19.51 \$90.00
Job Title OC - Server	Pay Rate \$2.13	Hours 9.16	Total \$19.51
Maxey, Tiffany			
	Grand Total Avg Payrate		\$1,626.60 \$55.30
Tips: \$912.33	Gratuity		\$251.62
Sales: \$5,423.24	Total Claimed Tips	29.41	\$62.65 \$400.00
OC - Server	\$2.13	29.41	\$62.65
Martinez, Daniel	Pay Rate	Hours	Total
	Avg Payrate		\$20.31
Tips: \$361.39	Gratuity Grand Total		\$0.00 \$443.65
Sales: \$2,503.25	Claimed Tips		\$0.00
OC - Host	\$12.00 Total	3.62 21.84	\$43.45 \$82.26
OC - Server	\$2.13	18.22	\$38.81
Malamatos, Lexyss	Pay Rate	Hours	Total
Molemetes Levives	Avg Pay	rate	\$0.00
1103. \$0.00	Grand 1	Γotal	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Gra	Tips tuity	\$0.00 \$0.00
•	•	Total 21.99	\$0.00
Job Title OC - General Manager		Rate Hours 0.00 21.99	Total \$0.00
Malamatos, Jenelle			
	Avg Payrate		\$903.41 \$18.62
Tips: \$584.65	Gratuity Grand Total		\$126.10 \$903.41
Sales: \$4,951.48	Total Claimed Tips	48.51	\$167.66 \$25.00
OC - Bartender	\$15.00	5.00	\$75.00
Job Title OC - Server	Pay Rate \$2.13	Hours 43.51	Total \$92.67
Majewski, Anthony			
	Grand Total Avg Payrate		\$1,654.24 \$46.73
Sales: \$7,719.23 Tips: \$713.22	Claimed Tips Gratuity		\$865.62
	Total	35.40	\$75.40 \$0.00
Job Title OC - Server	Pay Rate \$2.13	Hours 35.40	Total \$75.40
Long, Tyler			
	Avg Payrate		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
Sales: \$0.00	Total Claimed Tips	0.00	\$0.00 \$0.00
Job Title	Pay Rate	Hours	Total
Klingler, Heather	Avb i ayrate		Ģ13.00
	Grand Total Avg Payrate		\$120.40 \$15.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
C-1 60.00	Total	8.03	\$120.40
Job Title OC - Host	Pay Rate \$15.00	Hours 8.03	Total \$120.40
lab Titla	Day Pate	House	Total

Nicksic, Vivi			
Job Title OC - Cashier	Pay Rate \$10.00	Hours 9.11	Total \$91.13
oc casiner	Total	9.11	\$91.13
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$91.13
	Avg Payrate		\$10.00
Ofman, Cole			_]
OC - Busser	Pay Rate \$11.00	Hours 7.74	Total \$85.16
OC - Dishwasher	\$14.00	15.09	\$211.21
Salas, ĆO OO	Total	22.83	\$296.37
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$296.37
Determine Arms	Avg Payrate		\$12.98
Peterson, Anna lob Title	Pay R	ate Hours	Total
OC - Event Coordinator	\$0	.00 52.84	\$0.00
Sales: \$0.00	To Claimed 1	otal 52.84	\$0.00 \$0.00
Tips: \$0.00	Grati		\$0.00
	Grand To		\$0.00
PLEASE, CHANGE ME	Avg Payr	ate	\$0.00
lob Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Prosser, Michelle	Dav. Dat-	Цолго	Total
OC - Bartender	Pay Rate \$0.00	Hours 9.24	\$0.00
Ехро	\$0.00	7.64	\$0.00
Sales: \$0.00	Total Claimed Tips	16.88	\$0.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$0.00 \$0.00
Queer, Nicole	Avgiayiate		Ţ0.00
Job Title	Pay Rate	Hours	Total
OC - Bartender	\$15.00 Total	11.57 11.57	\$173.60
Sales: \$0.00	Claimed Tips	11.57	\$173.60 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$173.60 \$15.00
Rafferty, Bryce			7-0100
Job Title	Pay Rate	Hours	Total
OC - Busser	\$11.00 Total	4.38 4.38	\$48.18 \$48.18
Sales: \$0.00	Claimed Tips	4.50	\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$48.18
	Avg Payrate		\$11.00
Ramirez, Ana Rosa			
Job Title	Pay Rate	Hours	Total
OC - Cook OC - Cook - OT	\$14.00 \$21.00	65.17 0.74	\$912.41 \$15.57
	Total	65.91	\$927.98
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$927.98
D 5:1	Avg Payrate		\$14.08
Reese, Ethan Job Title	Pay Rate	Hours	Total
OC - Server	\$2.13	37.32	\$79.49
\$2 05: \$E 912 E0	Total	37.32	\$79.49
Sales: \$5,813.59 Tips: \$1,034.19	Claimed Tips Gratuity		\$184.00 \$65.92
• • • •	Grand Total		\$1,363.60
Pico Dani	Avg Payrate		\$36.54
Rico, Dani Job Title	Pay Rate	Hours	Total
OC - Server	\$2.13	43.74	\$93.17
Sales: \$5,370.82	Total Claimed Tips	43.74	\$93.17 \$50.00
Tips: \$738.74	Gratuity		\$102.34
	Grand Total Avg Payrate		\$984.25 \$22.50
Podrguoz Mario	Avg raylate		\$22.50
Rodrguez, Marie lob Title	Pay Rate	Hours	Total
OC - Server	\$2.13	15.90	\$33.88
Sales: \$2,673.80	Total Claimed Tips	15.90	\$33.88 \$0.00
Tips: \$464.00	Gratuity		\$0.00
	0 17 1		\$497.88
	Grand Total		
Rowe Marissa	Avg Payrate		\$31.30
		Hours	Total
	Avg Payrate Pay Rate \$2.13	13.13	Total \$27.98
Rowe, Marissa Job Title OC - Server Sales: \$1,949.65	Avg Payrate Pay Rate		Total

	Grand Total Avg Payrate	\$182.57 \$13.90	
Sanders, Fayth	Pay Rate	Hours	Tatal
OC - Host	\$10.00	7.62	Total \$76.23
OC - Busser	\$11.00	10.91	\$119.96
	Total	18.53	\$196.19
Sales: \$0.00	Claimed Tips		\$0.00 \$0.00
Tips: \$0.00	Gratuity Grand Total		\$196.19
	Avg Payrate		\$10.59
Seward, Kyle	<u> </u>		
ob Title OC - Server	Pay Rate \$2.13	Hours 31.86	Total
OC - Server	Ş2.13 Total	31.86	\$67.86 \$67.86
Sales: \$3,788.06	Claimed Tips	02.00	\$25.00
Tips: \$705.40	Gratuity		\$0.00
	Grand Total Avg Payrate		\$798.26 \$25.06
iemers, Michelle	Avgraylate		Ģ 23.00
ob Title	Pay Rate	Hours	Total
OC - Server	\$2.13	23.15	\$49.31
Salas, \$3,400,14	Total	23.15	\$49.31
Sales: \$2,499.14 Tips: \$334.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$383.31
	Avg Payrate		\$16.56
oleski, Emma			
ob Title	Pay Rate	Hours	Total
OC - Cashier	\$12.00 Total	12.22 12.22	\$146.65 \$146.65
Sales: \$0.00	Claimed Tips	12.06	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$146.65 \$12.00
Luigan Baston	Avg Payrate		\$12.00
Swigon, Boston ob Title	Pay Rate	Hours	Total
OC - Busser	\$11.00	22.39	\$246.34
	Total	22.39	\$246.34
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$246.34
	Avg Payrate		\$11.00
Swigon, Miranda	<u> </u>		•
ob Title	Pay Rate	Hours	Total
OC - Bartender	\$15.00	24.90	\$373.53
Sales: \$0.00	Total Claimed Tips	24.90	\$373.53 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$373.53
	Avg Payrate		\$15.00
Fest Employee, Matts	Pay Rate	Hours	Total
ob True	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
Torres, Evelin			
ob Title	Pay Rate	Hours	Total
OC - Host	\$12.00	38.87 38.87	\$466.38
Sales: \$0.00	Total Claimed Tips	30.07	\$466.38 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$466.38
Farras Israi	Avg Payrate		\$12.00
Forres, Jazel ob Title	Pay Rate	Hours	Total
OC - Busser	\$11.00	9.39	\$103.30
OC - Cashier	\$12.00	11.95	\$143.40
Salaci én no	Total	21.34	\$246.70
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$246.70
	Avg Payrate		\$11.56
Torres, Vanessa			
ob Title	Pay Rate	Hours	Total
OC - Cashier OC - Host	\$10.00 \$12.00	12.58 12.71	\$125.84 \$152.52
00 11030	Total	25.29	\$278.36
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00
	Grand Total Avg Payrate		\$278.36 \$11.00
Torres Alvarez, Erika			,_2.00
ob Title	Pay Rate	Hours	Total
OC - Cook	\$14.00	14.26	\$199.63
Sales: \$0.00	Total	14.26	\$199.63
	Claimed Tips		\$0.00 \$0.00
	Gratuitu		
Tips: \$0.00	Gratuity Grand Total		\$199.63
Tips: \$0.00 Torres Perez, Maximino	Grand Total		\$199.63
	Grand Total	Hours 50.70	\$199.63

			_			4
					50.70	\$760.45
Sales: \$0.00			Claimed	•		\$0.00
Tips: \$0.00			Grat			\$0.00
			Grand T			\$760.45
			Avg Pay	rate		\$15.00
Turner, Joshua						
Job Title			Pay Ra	te Ho	urs	Tota
OC - Bar Manag	ger		\$20.0			\$1,164.52
			Tot		23	\$1,164.52
Sales: \$125.00)		Claimed Ti	ps		\$751.00
Tips: \$0.00			Gratui			\$0.00
			Grand Tot			\$1,915.52
			Avg Payra	te		\$32.90
Wade, Logan						
Job Title			Pay Ra	te	Hours	Tota
OC - Busser			\$11.0		7.96	\$87.51
			Tot	al	7.96	\$87.51
Sales: \$0.00			Claimed Tip	os		\$0.00
Tips: \$0.00			Gratui	tv		\$0.00
•			Grand Tot	ál		\$87.51
			Avg Payra	te		\$11.00
Welkie, Kaylee						
Job Title			Pav	Rate	Hours	Tota
OC - Server				2.13	18.31	\$39.00
00 00.10.				Total	18.31	\$39.00
Sales: \$2,466.1	0		Claimed	Tips		\$0.00
Tips: \$364.00	_			tuity		\$0.00
			Grand '			\$403.00
			Avg Pay	/rate		\$22.01
		Summar	v			
Job Code	Total Hours	Regular Hours		Total Pav	Regular Pay	OT Pav
OC - Bartender	81.20	81.20	0.00	\$1.065.68		\$0.00
OC - Cashier	55.94	55.94	0.00	\$616.90	\$616.90	\$0.00
OC - Server	778.10	778.10	0.00	\$1.657.35	\$1.657.35	\$0.00
OC - Cook	542.09	500.56	41.53	\$6,226.45	\$5,771.06	\$455.39
OC - Dishwasher	342.01	342.01	0.00	\$5,005.51	\$5,005.51	\$0.00
OC - Busser	145.00	145.00	0.00	\$1,595.05	\$1,595.05	\$0.00
OC - General Manager	151.83	147.40	4.43	\$0.00	\$0.00	\$0.00
OC - General Manager			0.00	\$858.99	\$858.99	\$0.00
OC - General Manager	125.24	125.24	0.00	70JU.JJ		
	125.24 52.84	125.24 52.84	0.00	\$0.00	\$0.00	\$0.00
OC - Host OC - Event Coordinator Expo				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00
OC - Host OC - Event Coordinator	52.84	52.84	0.00	\$0.00	\$0.00 \$0.00 \$1,164.52	\$0.00 \$0.00